Answer any 7 questions from 1to 9. Each carries 1 score. (7%1=T)

Ey The Avogadro number is

The number of significant figures in 2.005 is

a) 2 b) 4

a)i 1 d)e3

%/ The splitting of spectral lines in the presence of magnetic field is called

4. The general outer electronic configuration of p - block elements is

Q/ The minimum frequency of incident radiation to cause photo electric effect is known as

‘/ The number of wave lengths per unit length 1s called
a) Wave number. b) Amplitude
| c) Velocity d) Frequency
The S and P block elements are together known as

8. The bond order of N, molecule is
9. The dipole moment of BeCl, is

a) 1 D)
G 3 A d) 0.
V Answer any 10 questions from 10 to 22. Each carries 2 score. (10x2=20)

efine homogeneous and heterogeneous mixtures? Give example for each.
G

alculate the molarity of NaOH in the solution prepared by dissolving 4g NaOH 1n
/ enough water to form 250 ml of the solution. [molecular mass of NaOH =40

100g (.31=.1CO3 decomposes to give 56g of CaO and 44g of CO,.Which law of chemical
mbination is illustrated here. State the law.

6' Write any Two characteristics of anode rays.

14. Draw the boundary surface diagrams of any four d - orbitals.

9/ a) State Heisenberg’s uncertainty principle. (Score : 1)
b) Write the mathematical expression of the above principle. (Score : 1)
,-16' Calculate the energy associated with the first orbit of He".
17, a) Write the electronic configuration of Cr(Z=24). (Score : 1)
b) Give the number of elctrons with principal quantum number n =3 in Cr atom.
(Score : 1)
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I8. Predict the period and group of the element having outer electronic conﬁgmuon
3s%3p? in the modern periodic table,

19. a) Define electronegativity? : | (Score : 1)
b) Name any one scale of electronegatl’vlt)'7 (Score: 1)

20.  Using the periodic table predict the formula of the compound formed by the following
pairs of elements.
a) MgandS$S

b) SiandBr. :
21.  Write any two limitations of octet rule. A

22. Draw the Lewis dot structures of N, and CCI,

Answer any 7 questions from 23 to 31. Each carries 3 score. (7%3=11)
Q/Stat,c and illustrate the law of multiple proportion. b
ﬂ/ﬂ) Define empirical formula. (Score: 1)

b)  The molecular mass of a compound with empirical formula CH is 78. Find its

a../ molecular formula. . (Score : 29,& )

:xplain Rutherford’s nuclear model of atom, |

Complete the following table.

What is meant by dual behaviour '. matter? (Score : 1)
b)  Calculate the wave length of a ball of mass 0.1kg ,;j

- 1 = d n "
e - = h‘ .l' __1"

28, a) | (Score : 1)

(Score:2)
(Score : l) 3
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30. Calculate the formal charge of atoms in 0zone molecule.

W Write any three postulates of VSEPR theory.

Answer any 3 questions from 32 to 35. Each carries 4 score.

1 9 (3x4=12)
'%/a) Def‘mc I rsz.u. (Score : 1)
b)  Define limiting reagent. (Score : 1)
¢)  Write the postulates of Dalton’s atomic theory. (Score : 2)

8. 9 a)

Name the four quantum numbers that describe an electron present in an orbital .
(Score : 2)
b)  Write the principal and azimuthal quantum number of an electron present in 3d

orbital. (Score : 1)
¢)  Write the Schrédinger equation.

(Score : 1)
% a)  Write the postulates of Bohr model of atom. (Score : 2)
b)  Discuss the merits of Bohr modeLof atom. (Score : 2)

350 a)  What would be the IUPAC name of the element with atomic number 120? | -‘.
(Score : 1)

b)  Which of'the following element has greater electron gain enthalpy. (Score : 1)
1) Flourme L
11)  Chlorine

¢)  Givereasons for your answer.

(Score : 2)
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